Subject: Failover active/active Questions
Posted by plokko on Thu, 18 Oct 2007 15:47:56 GMT

View Forum Message <> Reply to Message

Hi,

i'm planning to create a cluster of 2 nodes with 2 gigabyte ethernet cards:

EthO = primary cards connected to local gigabyte switch(then to firewall,router and internet...)
Ethl = with a crossover cable for heartbeat and DRBD.

How can i create an active/active failover configuration(i'm thinking if paravirtualization will help
me)?

the server should run sqgl+php+apache and it must be as stable as performant.

i'm planning to use debian for all the virtual and phisical machine.

thanks to anyone who try to help me!

P.S.:a sample image is attacched,i hope you'll understand it!
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